
1) Find area of square 
having each side (s)
equals 529 ft

Answer: ____________

2) What would you multiply by to 
decrease an amount by 53%?

Answer: ____________

3) Round 30.97 to the nearest 100

Answer: ____________

4) 1/35 of 175

Answer: ____________

5) 20/13 x 13/7

Answer: ____________

6) Write 510 in standard form.

Answer: ____________

7) 48 x (-36)

Answer: ____________

8) What would you multiply by to 
increase an amount by 33%?

Answer: ____________

9) Round 1.01415222 to 2 significant 
figures.

Answer: ____________

10) 9/77 of 154

Answer: ____________

11) Simplify 34:12

Answer: ____________

12) 660 x 719

Answer: ____________

13) 35 x 100

Answer: ____________

14) (8 x 53) x (3 x 36)

Answer: ____________

15) 135 + 107

Answer: ____________

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

October 24, 2021

Sr: 24102021-2388

 

http://www.geekschool.co.uk


16) Find perimeter of 
triangle
a = 801 in, b = 944 
in,
c = 985in

Answer: ____________

17) Increase 79 by 59%

Answer: ____________

18) 826 + 114

Answer: ____________

19) 2/
17 ÷ 4/3

Answer: ____________

20) (-391) ÷ (-23)

Answer: ____________

Total: ___ / 20
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Answers:

1) 279841ft 2) 0.47 3) 30.97 4) 5 5) 26/7 6) 5.1 x 102 7)

8) 1.33 9) 1 10) 18 11) 17 : 6 12) 474540 13) 3500 14) 2187000

15) 242 16) 2730in 17) 125.61 18) 940 19) 3/34 20) 17
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